PreCal Review for Unit 7 NAME

Non-Calculator

1) Find the sum of the coefficients of (4x — 5y)3
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2) Find the sum of the first 328 even natural numbers.
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3) Fmd the 10th termof the geometnc sequence if az == and a, = 27
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5) Find the nt"term of the geometric sequence if: a, = 1 and ag = 81.
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7) Find a, for the arithmetic sequence with a, = —5, d=4, & n=47
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8) Find the fifth term of (5—x)7n ~L13)
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11) Find the partial sum of Z log,; x

® 7.33".2,%!

12) What is the 12th term of (1.5x — 2.1y)**
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13) Find the formula for a, and find a, for the arithmetic sequence:
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15) Find the formula for a,, and find a, for the geometric sequence:
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